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S )
' The diagonal of a rhombus are 12 cm and 16 cm

1 respectively. The length of one side is :

TF THACS &1 (A0 e 12 9t i 16 At gl TN THF
qIH T AATS & A 8em

B.6cm

[C. 10 dm

D.12cm
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_ 2 A metallic hemisphere is melted and recast into a cone
with the same radius (R). If H is the height of the cone,
then :

T 3 Mot aﬁﬁﬂwmgwﬁw@%‘r@
* H * * , .
9 TAATSTAT AT H AT H A5 8 EEEIZR

(QH=ZR

(3) H=+/3R
(4) B=3R
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' ’ : F:|
@ If the radius of a circle is increased by 13.33% then
3 percentage of increase of its area is —

af Feft 77 1 o § 13.33% i 30 St & o 5% & A

g FT Tfaea g -
(N7.53]

(2) 28.44
(3) 12.45
(4) 15
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S ABC is an isosceles triangle with AB = AC. A circle
4through B touching AC at the middle point intersects
AB at P. Then AP: AB is:
ABC T gufaarg Bqer g1 g B & u aa &i=r smar
g STAC ST HeT A ZaTg A< ABFHI P qX e Fiar g

ar AP; AB SITd <

1)4: 1
(3)3:5
4)1:4
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BABC is an isosceles triangle and AB = AC = 2a unit, BC =
a unit. Draw AD L BC, and find the length of AD.
ABC T qHfgaTg s g siK AB = AC = 2a @Ts, BC = a
TS gl ADL BC #3, ar AD &t &aTs S(Td <l
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B (-0) (15 e

(1) 2125

(2) 1/25
(3)1.;
(4) 1/325
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- - If a(2 + V3) = b(2 — v3) = 1 then the value of
1 1

a2+1 b2+1

1) -5
i

(3) 4
(4) 9
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- 2 will be

, then the value of a® — — -

a

212
(3) 33
(4)5
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9 If2x+%= 3,thenthevalueofx3+x—1:,,+2is-

(1) —=

(2) -2

8

@) 11
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If a boy walks from his house to school at the rate of 4 km per hour, he
1 reaches the school 10 minutes earlier than the scheduled time.
However, if he walks at the rate of 3 km per hour, he reaches 10
O minutes late. Find the distance of his school from his house.

T s AgHT 4 FT Ifa 5 it T I 9§ & & g Foar g, arag
ﬁrafﬁ?rwﬁmfhﬁzqg@rwwél'@mﬁ? ag 3 faft ufa =ie
T Y TAAT g, a‘ragmfhﬁzé'&@rwé’lw%atﬁwﬁ?wrﬁ{&

T 94T 90|

WELUL
(2) 6 km
(3)4km ]
(4) 6.5 km
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A swimming pool has 3 drain pipes. The first two pipes A and B, operating
1 simultaneously, an empty the pool in half the time that C, the 3" pipe, alone
takes to empty it. Pipe A, working alone, takes half the time taken by pipe B.
1 Together they take 6 hours 40 minutes to empty the pool. Time taken by
pipe A to empty the pool, (in hours) is
T fRafi o § 3 et arsa 81 98« I 91T A iR B, T 9T FT9 Fd g4,
9T C | Y 8T § Greit F AT g T 3l , TR A, aﬁﬁmaﬂ%rgq KLER]
B g fordT 73T et 99T« 2 wfrg\?«ra?rm?ﬁew H 3¢ 6 H¢ 40 fAme
A gl T I GTAT LA o [7C qT87 A (5 7) g0 T R awa g

(H{15__]
(2) 10

(3) 30
47
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A train passes two persons walking in the same
1 direction at a speed of 3km/hr and 5 km/hr
9  respectively in 10 seconds and 11 seconds
respectively. The speed of the train is .

o 37 3 Pt/ T 3 5 Tt/ srer Y T & e e |
3 T AT 2 AT A FHA: 10 A A 11 e F
QT FTAT gl v o Y i 2 (1) 28

km/hr

(2) 27
km/hr
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( If a sum of money compounded annually
becomes 1.44 times of itself in 2 year, then the
3 rate of interest per annum is-

Tfe 2 99 | Tiaay Fehg (e T W7 1.44 A7 g ST
g, T I T4 SIS &l X &-

(1) 25%
(2) 22%
3) 21%
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The difference between compound and simple
interest on a certain sum for 3 years at 5% per
4  annumisRs. 122. the sum is —

3 9T % forw 5% i a9 o= usw [fsa afer w gty
ST |TLTIOT SATST & S 1 T FAL € 122, qIAE AV T8

RESIFUIE
(1) Rs. 16000
(2) Rs. 15000

(3) Rs. 12000
(4) Rs. 10000
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S The marked price of a piano was Rs. 15000. At the time of |

1 sale, there were successive discounts of 20%, 10% and
10% respectively on it. The sale price was.

5 s gt it rfRwa g € 15000 o). fosft & a0, ST 1
FH: 20%, 10% 3T 10% FHt TR Y2 o8 ot gor 9ml

[(1) Rs. 9120

(2) Rs. 9750
(3) Rs. 9760 |
(4) Rs. 9780 |
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Ravi starts a business with Rs. 45000. After a certain
period of time he is joined by Mohan who invests Rs.
30000. At the end of the year they divide the profit in the
ratio 9 : 4. When did Mohan join Ravi?

2 45000 T F TTT T AT L€ T gl. T f[Afsra
THT % 1< 98 WIgT 9 € S1dT g S € 30000. QT g 99

FATH 4 AT AT 9: 4 F SUTa § fawTiora wLa g1 ar qrga

T < Y e i fRaT?
(1) After 3 months

(2)
(3) After 6 months

(4) After 4 mor;
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A car and a jeep were sold for Rs. 12000 each. The car was
sold at a loss of 20% while the jeep at a gain of 20%. The
7 entire transaction resulted in —

T FTC 3N TH ST =9 12000 T4F H =7 TS off1 | F1EFHT 20%
sl T O =T 39T, i ST Dl 20% F AT I TL A 6
TR ST -

(1) Neither loss nor gain
2
(3) Loss of Rs. 10000
(4) Gain of Rs. 500
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N=®#] A man invests a part of 10000 at 5% and remaining at 6% .

The 5% investment yields annually Rs. 76.50 more than the
8 6% investment. The amount invested at 6% is
T =<F 10000 7 F5 fREAT 5% Fit T & TG g Tt 6% 9,

5% I fas« areT 89T 76.50 ST wTH ATt 6% W/, A 6% WX
FARTTAT AT T TTq Y

(1) Rs. 3600

(2) Rs. 3550
(3) Rs. 3850

(4) Rs. 4000
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A man divides his property so that his son's share to his wife's and

wife's share to his daughter's are both as in the ratio 3 : 1. If the

9 daughter gets Rs. 10000 less than son, the value (in rupees) of the
whole property is —

T TEHT (AT Uy FT TAATIrT FTAT g aTieh ST o< HT {381 Iqeht

TAT T 3T TAT 7 FREAT ST AT A AT 3: 1 % FATATT § grl Tiw 9t
FT Tl & T 10000 F, T T T G (TIA H) § -

(1) RS. 16250 ]

(2) Rs. 16000
(3) Rs. 1825

(4) Rs. 17000
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If X runs are scored by A, yrunsbyBandzruns by C,thenx:y=y
: Z =3 : 2. If total number of runs scored by A, B and C is 342, the
runs scored by each would be respectively-
IRXTTAGTAIINTAAE, Y TBERT AR ZWCEUE, ATX Y =

y:z=3:2. TfT A, B 3l C g FHTT T FeT T it 9&q1 342 g, v
9@?5 ?rﬁm%rt«ramraﬂm

(1) H44, 96, 64

(2) 162, 108, 72
(3) 180, 120, 80
(4) 189, 126, 84
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If 2x-1 + 2x+1 = 320, the value of x is -

https://t.me/MathbySuryaveersir



f"—"‘wh SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

108 + V169 =?

If%ﬁ

(3) 6

(4)
10
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